BRACKETS HOMEWORK

Re-write each of the following expressions putting in brackets so that each one is equal to 30.

Eg	2 x 3 + 24	Would be	(2 x 3) + 24 = 30

1.	3 x 9 + 3
2.	4 x 8 - 2
3.	10 + 5 x 4
4. 	11 x 3 - 3
5. 	3 + 2 x 6
6. 	3 x 5 + 3 x 5
7.	30 + 24
	 5
8.	18 x 2 - 6
9.	2 x 10 + 2 x 5
10.	2 + 3 x 8 + 4
11.	4 + 2 x 10 + 6
12.	12 + 3 x 2 + 3 x 4
13.	12 x 2 + 2 + 2 x 2
14.	3 x -2 + 36
15.	20 + 2 x -3 + 16
16.	12 - 2 x 4 + 2 x 13
17.	10 + 10 x 2
18.	18 - 2 x 4 + 4 + 2 x 3
19.	2 + 5 x 2 + 4 x 4
20.	10 + 2 x 2 + 6

Now make 10 of your own expressions that also equal 30.
Each one MUST have brackets in it.
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